
ITEM THUMBNAIL SIZE QTY

Screw M4 12mm 62

Screw M5

12mm 72
16mm 13
25mm 16
30mm 1
60mm 16

Screw M6

16mm 77

20mm 13

25mm 1

Screw M8 60mm 2

Locknut

M4 3

M6 9

M8 2

Slide nut

M4 61

M6 46

Washer M6 12x2 32

Spacer M5

15mm 1

30mm 16



Bearing block - short 45x45mm 8

Bearing block - long 89x50mm 2

Motor coupler 45x45mm 4

Support bearing bracket 62x62x10mm 4

Support bearing bracket 62x62x8mm 7

Support bearing bracket 40x40x3mm 4

Double row ball bearing 30x14,3x10mm 4

Ball bearing 10x30x9mm 3



Flange bearing 10mm 1

Jam nut M10 4

Joining plate 30x90mm 1

Joining plate 30x120mm 2

Specific part - Y axis 
bearing support - 2

Specific part - Y axis 
motor support - 2

Specific part - gantry 
bearing side - 1

Specific part - gantry 
motor side - 1



Specific part - X axis nut 
joining plate - 1

Specific part - Z axis 
bearing support - 1

Specific part - Z axis 
motor support - 1

Specific part - Z axis nut 
joining plate - 1

AMB Spindle - 1

Spindle support 160x80x20mm 1



Cable sleeve 200mm 3

Toggle clamp - 6

Allen key

2,5mm 1
3mm 1
4mm 1
5mm 1
6mm 1



ITEM THUMBNAIL SIZE QTY

Profile I-60x60

830mm 2

1230mm 2

Profile I-60x30 620mm 4

Bracket 60x60x60mm 8

Bracket 28x28x28mm 3

Bracket 30x30x4mm 1

Rail SBS 16mm

800mm 2

1200mm 2

Rail 16mm 240mm 2

Ballscrew nut 
assembly

200mm 1

800mm 1

1200mm 2



Cable cover 1000mm 3



ITEM THUMBNAIL QTY

Electronic enclosure 1

Nema23 stepper motor 4

Inductive sensor 5

Sensor cables 5

Probing device (optional) 1

Emergency stop button 1

IEC power cable 1

HDMI cable 1

Cable chain 2


	Bill Of Materials - Mechanical Elements
	Bill Of Materials - Structural elements
	Bill Of Materials - Electronic components

